= A
A 2 0l & A &2 & Al A
20158 = =0l & LB H 23t
M 23
M PHFUAMATEETS
el SESHT BE Y M (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S35t 51,488,216 41,943,126 9,545,090
= 31,985,484
X 3,100,000
J| 2,866,275
< 13,536,457
EHRMAMABEETS 47,689,586 36,576,996 11,112,590
= 31,535,484
J| 2,866,275
< 13,287,827
FEHISM B2 & S 2,909,450 1,309,750 1,599,700
= 1,674,600
< 1,234,850
LHIHM MSXNAS(ERX, =T 1) 539,400 515,750 23,650
308 MtXIEHSOIH 539,400 515,750 23,650
01 HXNHHNBHELS 539,400 515,750 23,650
ORYR3M MSXNES(BERA, =) 438,600
ORI SBHEA S K& 100,800
ANE=23(23M) =B 42,000 42,000 0
308 XXIELHSOIA 42,000 42,000 0
01 XML EES 42,000 42,000 0
OXNZ2sto=(23M) M 42,000
P 2EEE 140,000 178,000 /38,000
307 21201 A 45,000 45,000 0
04 DIZHHALALSE E X 45,000 45,000 0
ORE=2sM 2&3 & A& 45,000
308 XXIEHH SOl 95,000 83,000 12,000
01 IXNHHBHNEES 95,000 83,000 12,000
OE&IXIA EC+elD X 56,000
OHA =S =0 X2 7,000
OZAL SRUA=ZH 10,000
OURAN BoE HHESEDT 15,000
OEXNERE2M F4F Ll M= 7,000
FEERaMEREA AE 2,188,050 574,000 1,614,050
= 1,674,600
< 513,450
308 XXM SO0IA 43,050 54,000 A 10,950
= 24,600
< 18,450
01 IXNHHBNEES 43,050 54,000 210,950
ORE2stM dus2 S435 MY 43,050
= 24,600
< 18,450




EXN: 23
HE: SHRMAMANLSENS
e LERSM E& Y dS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
403 XX SHHS K20 ™ 2,145,000 520,000 1,625,000
= 1,650,000
== 495,000
01 MXHAMAHEBE = 2,145,000 520,000 1,625,000
ORE2M dxn=s2 HE 2,145,000
= 1,650,000
o= 495,000
S 28 2435 200,000 0 200,000
S 28U HARA BE=EE 200,000 0 200,000
207 I | 200,000 0 200,000
01 A2 EHH| 200,000 0 200,000
OsY 28U HASN A312d 200,000
NE23HM E&=22 40,236,414 31,223,070 9,013,344
= 29,263,372
J| 730,000
& 10,243,042
HMEANEESFH| 2,344,500 4,164,000 A 1,819,500
= 1,563,000
o= 781,500
403 XX S M S X201 & 2,344 500 4,164,000 A 1,819,500
= 1,563,000
o= 781,500
01 XS A2E X 2,344,500 4,164,000 A 1,819,500
OFSAMNEELAH| 1,312,500
= 875,000
& 437,500
ONSAE BTHAIAE = 1,032,000
= 688,000
o= 344,000
NEESAIE B2 490,000 335,000 155,000
403 XX S M S K201 & 490,000 335,000 155,000
01 MXHHNE2BE = 490,000 335,000 155,000
OXNEEEAE BLFH| 30,000
OKE A BEx=FHIAIY 120,000
O =HAEHIAMY 10,000
O&=AF HIIAIE B 30,000
OBt AN =Y A=Y 100,000
ONEAN BZ3 QAL &I 200,000
=2IXNEESSM |22 A& 27,500 27,500 0
= 27,500
308 XX G SOl A 27,500 27,500 0
= 27,500
01 AIKSHMEMNEX= 27,500 27,500 0




M 23
M PHFUAMATEETS
& XNEES3M E&2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=JIZa M XY 2L A 2e 27,500
= 27,500
ESSANEE FHI 150,000 262,500 A 112,500
403 XIS E X201 & 150,000 262,500 A 112,500
01 XXM 22 = 150,000 262,500 A 112,500
OS=g8AN&EsS EHl 140,000
O €& B4 10,000
ANEXNZ 23 E+FHl 3,046,500 3,917,310 A 870,810
403 MtXISHH S A0l & 3,046,500 3,917,310 A 870,810
01 AXSHMA=2EE 3,046,500 3,917,310 A 870,810
OANEXE E3tM E+FHl 2,961,500
OzAtel &&= 15,000
OHEBE =HIFH 30,000
Ofdgn 2 15,000
OESHME F=HAFH| 25,000
EXNEEZSM e B3 & S2EIE B+F 21,000 21,000 0
]|
403 MHXSHHSA=0l& 21,000 21,000 0
01 X ESHHMA=E L 21,000 21,000 0
OEXNIZM HHEHES & S22 HAH &X 21,000
=3 MHEE 2el K& 34,135,914 21,460,200 12,675,714
= 27,672,872
J| 730,000
=) 5,733,042
307 glz2+0ol & 1,216,000 1,050,000 166,000
J| 730,000
< 486,000
02 QIZtE M AHE X 1,216,000 1,050,000 166,000
O=2M =sMd 1,216,000
J| 730,000
< 486,000
403 MRS S A=201 A 32,919,914 20,410,200 12,509,714
= 27,672,872
< 5,247,042
01 X EHHMA2LE L 32,919,914 20,410,200 12,509,714
OZ2NXNEFE3M 2+=FHl 12,948,336
= 10,591,572
= 2,356,764
O3JNE SEZ23M 23| 457,500
= 305,000
< 152,500
OLEEE £ LMY (SF.20) 15,514,078
= 12,776,300




M 23
B 2QUOHANBENS
& XNEES3M E&2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 2,737,778
OLNEEE OI0IX ZIIA 4,000,000
= 4,000,000
a3 22 21,000 21,000 0
201 Let24d] 21,000 21,000 0
01 At 2teltl 21,000 21,000 0
O2Meds 4 A SANEZMN =& 21,000
N 2et&EY 79,600 100,800 A 21,200
G4l SEIM Iz BE 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 It S AHE L 20,000 20,000 0
OZaL= SEIAAMNNZEHUL 20,000
sg A TXNAY 29 59,600 60,800 A1,200
306 ¢ 2 59,600 60,800 A 1,200
01 &3 59,600 60,800 A1,200
OsY o XA 29 59,600
FIAFH FH Y ¢ & 470,840 1,214,834 AT43,994
= 349,512
< 121,328
EAHEE =AM X2 430,200 458,900 A 28,700
= 312,000
< 118,200
308 XXM SOl A 430,200 458,900 A28,700
= 312,000
< 118,200
01 IXNHHBNEES 430,200 458,900 A 28,700
Odd 23t At 237,800
= 164,000
< 73,800
O&otsaes AR, &u EEAZ 192,400
= 148,000
< 44,400
MBI MHEIAZ0F SA2RRA 1A 22,912 10,934 11,978
= 22,912
308 X EHSOIA 22,912 10,934 11,978
= 22,912
01 HIXNHHBNEES 22,912 10,934 11,978
OAZIMEIAZO0F SAZ R 1 2H] 22,912
= 22,912
Ao IS AL THE ZHI 17,728 25,000 ANT,272
= 14,600
< 3,128




2N

X{ XH -
S =

M0 MO MO

e

tol toi ton

£ S o928 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
308 XXt S0 A 17,728 25,000 NT,272
= 14,600
< 3,128
01 IXNHHBNEES 17,728 25,000 ANT,272
OXH = o SIS AL THE ZHI 17,728
= 14,600
= 3,128
3 ST AL 2,949,726 1,838,542 1,111,184
| 2,136,275
= 813,451
SREIEZIM ZALE X 817,312 778,392 38,920
p] 544,875
< 272,437
308 XtXIEHH SOl A 817,312 778,392 38,920
| 544,875
< 272,437
01 AXNHHBAMNEES 817,312 778,392 38,920
O=ZLSX2SM Z2A120E B X 817,312
| 544,875
< 272,437
SREXE}M EMHAE 2= 1,687,250 663,375 1,023,875
| 1,389,500
< 297,750
403 MHXSHHSA=0l& 1,687,250 663,375 1,023,875
J| 1,389,500
< 297,750
01 XM A=E L 1,687,250 663,375 1,023,875
OSSN LMAIEZ2S 1,687,250
| 1,389,500
< 297,750
EXNEEZM LHAIE 2= 200,000 200,000 0
403 MtXISHHES A0l & 200,000 200,000 0
01 XM A=2EE 200,000 200,000 0
OZXNEEZsM LAIE 2= 200,000
SRSXEM etz 9 NF & YWMAE & 245,164 196,775 48,389
A 2tel
| 201,900
S 43,264
308 XXM S0 A 245,164 196,775 48,389
| 201,900
< 43,264
01 AXNSHHBLEES 245,164 196,775 48,389
OSSZ2tM 2otz ESXNF E LAl
o Szl 245,164
| 201,900




M 23
M SARMIAMANSES
chel: 23 S ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | < 43,264
MASR & ST 843,556 890,000 N46,444
= 248,000
< 595,556
HHEE MAFLE SHFA 400,000 575,000 A 175,000
306 £ 2 400,000 575,000 A 175,000
01 &3 400,000 575,000 A 175,000
OHHMSEAMARLE ST X 400,000
SEAMA(=29 M) HARMN SHEX 20,556 15,000 5,556
306 £ 3 20,556 15,000 5,556
01 =23 20,556 15,000 5,556
Ogt=2 M3 HMARL SH =X 20,556
AN = ol oF 28 & Al FSME=T 51,000 300,000 A 249,000
306 =93 51,000 300,000 A 249,000
01 &3 51,000 300,000 A 249,000
OKMgoliet 20 HAHRL SH =& 23 H| 51,000
Moo 28 Al FSTHE=L S ALY 372,000 0 372,000
= 248,000
< 124,000
308 A EHHSOIA 372,000 0 372,000
=2 248,000
< 124,000
01 HXNHHNBHEES 372,000 0 372,000
ONGaliet HH AAFTMSHFEE HARAY 372,000
= 248,000
< 124,000
3t i 3,740,000 5,307,500 A 1,567,500
= 450,000
Xl 3,100,000
< 190,000
EH(JIS)RUISA SEMNY 640,000 2,030,000 A 1,390,000
= 450,000
< 190,000
SIS AE =& 250,000 330,000 A 80,000
= 250,000
308 XX EHSOIA 250,000 290,000 A 40,000
= 250,000
01 HIXNHHNBMNEES 250,000 290,000 A 40,000
O2&elte A=Al 250,000
= 250,000
JssuelEstady 50,000 200,000 A 150,000
306 =43 50,000 200,000 A 150,000




2N
X ZH -
L= B

el

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&

01 &3 50,000 200,000 A 150,000
OJlzsmuelEs 2y 50,000

SERUESA A 340,000 1,500,000 A 1,160,000
= 200,000
< 140,000

403 A X EHHS =0l A 340,000 1,500,000 A 1,160,000
= 200,000
S 140,000

01 X HHMA=LE L 340,000 1,500,000 A 1,160,000
OSERUESA HE 340,000
= 200,000
=) 140,000

23, 20 GAZSTA =4 2,400,000 2,042,000 358,000
Xl 2,400,000

3,20 GMBSEA =4 2,400,000 2,042,000 358,000
X 2,400,000

403 MHXSHHSA=0l& 2,400,000 2,042,000 358,000
Xl 2,400,000

01 X SHMA=2LE L 2,400,000 2,042,000 358,000
3F, 20 GAM2SEA =4 2,400,000
Xl 2,400,000

HE 23N Y 700,000 560,500 139,500
Xl 700,000

HWEZEstAREFHL(XNSAY) 700,000 560,500 139,500
X 700,000

403 UHXSHHS =0l & 700,000 560,500 139,500
X 700,000

01 XM A=2EE 700,000 560,500 139,500
Ogdsd |& FHl 700,000
Xl 700,000

HY2HZH (23 ) 58,630 58,630 0

Jl=Zdl 58,630 58,630 0

JlE2&l 58,630 58,630 0

201 L4l 26,600 26,600 0

01 AFR2t2lHl 26,600 26,600 0
O23M gde=a 26,600

202 4l 26,180 26,180 0

01 S LHOIYI 26,180 26,180 0
O=stM gR=a 26,180

203 YR =&l 5,850 5,850 0

03 AIMZ=XH R =AH| 2,850 2,850 0
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